
Gra hical A l ach to Limits - b omework 
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a) ;~~J(x) =-2 

d) /(1)=1. 

b) ;~1}lf(x) =2 

~) }~f(x)=-.2 

c) ~!;ff x)DNE 

t) !~ (x)=~ 

a) ;~f(x) =;:) b) ;~f(x) =0 

d) /(2)=3 [ e) }~f(x)=9 

c) ~~f(x)DNE 

t) !~f(x)=-~ 
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a) ;~~J(x)=L b) x~~J(x)= [ _ c) ~/(..)=1 a) _;~~J(x)=13 r) x~~f(x)=13 c) li.Tof(x)=13 
1 

d) /(3) =1 e) }~f(x) ~ t) !~f(i ) = oo ______ ""--I~_ _ _ __,,__d)_f_(o_)_=_13 f_)x "'_f_(x_)=_oo_ t)_~~-m_J_(x_)=_00. 
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a) lim/(x) =1, b) lim f (x) =.l c) limf (x) =1.a) Jim_! ( ~ \\) Jim_! ( x) ~ 0 c) Jim (x) -. 0 
x ---1- ' x-+1+ " x-+1_ . .x-+-1 x-+-1lf x-+-1 

d) /(1) =_9 e) lim J(x) = -?O t) Iimf(x) = ood) J(-1)= e) limf(x)=oo t) lim (x)=oo 
, x ---+-oo · x ~ x ~ oo · x-+oo · 
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a) lifi!/(x)=-oo b~ limf(x)=l;xi c) limf( )=DN.E a) li~f(x)=f b) limf(x)=09 c) limf(x)=oox->l urd&-x->1+ x->l ~ x ->3 vr{,,\e.-9- x->3+ x-3 

..._d)_f_(_l)_=_Mffl:_. __e_)x;.;_~__f_(x_)=_}_f)--'!'--~-f_(...,....)_=_-2_,__ d) f (3) ~ e) }~~ f (X) =-i f) !~f(X) =900 , __, 
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a) li~f(x)=-oob) lim/(x)=.-oo c) lim/( )=-oo 
x-2 x--+2+ j x- 2 

d) /(2)= 1 e) limf(x)=2 f) limj x)=2 
x - oo x-oo 

10) 3.0 

-5 -4 -3 -2 4 5 

-2.0 

-3.0 

a) li~f(x)=- b) xl~m0. f(x)=- l c) Iimf(x)DNE 
x-0 --,,- x - 0 

d) /(0)= 1 e) lim/(x)=,oo f) lim/(x)=c:io
x-+-SP ..,. x--+co 

a) ~f(x)=9b) limf{x)=O c) limf(x)=9
x-o ~ x-o+ - x-o 

d) /(0)=0 e) limf(x)D1ffi f) limf(x) NE 
x-+-oo · ~ .x----,.oo . . 

a) li~J(x)=Ob) lim/(x)=O c) lim/(x)=O.
x-o ~ x-o+ ~ x-o • 

d) f(O) =O e) }~f(x) =-~f) !~f(x) =~ 

-~ 
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a) li~f(x)=-3 b) lin~J(x)= l-2 c) limf( )=DNE 
x --1 x-1 x-+l 

d)f(l)=-2 e) }~f(x)=l-3 f) !~f(x =OO 

a) limf(x) =-2 b) limf(x) =-2 c) limf(x) = -2 
X -->1- ord "+- X -->l+ X-->l 

d) J(l)PJNE e) lim J(x) =~ f) limf(x) = oo 
x-oo X -+00 

15) 16) 
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a) li~f(x)=-2 b) l~f(x)= L2 c) limf(x =-2 

x-1 x- 1 x-1 

d) /(1)=0 e) limf(x)=oo f) limf( )=oo 
x-oo X-->00 I 

a) limf(x)= f r b) limf(x)=-oo c) limf(x)DNE 
x-->0- I/ ~t- x->0+ x->O · 

d) J(O~ e) limf(x)=Q f) limf(x)=Q 
X ---+-00 X-.OO 
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a) lim J(x) = oo b) lim J(x) = oo c) limf( ) = oo · a) li~ J(x) =0 b) lln: f(x) =0 c) limf(x) =0 
x - r ,_jJ~e.P- x - 3+ x->'-3 x->O x->O x ->O 

d) f(-3~ • e) lim f(x) =-oo f) limf(x = -2.5 d) J(O) =0 e) lim, f(x)DNE f) limf(x) = 0 
L----· ___..=.x --'--'C-oo _____,,_....:.:,X_..;->oo"-----+----'-'---'' I x-co ' / x-oo A 

x_--=;,--o0 
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